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Prototype BaCo2O8V2

AFLOW prototype label AB2C8D2 tI104 142 a f 2g e-001

ICSD 60580

Pearson symbol tI104

Space group number 142

Space group symbol I41/acd

AFLOW prototype command aflow --proto=AB2C8D2_tI104_142_a_f_2g_e-001

--params=a, c/a, x2, x3, x4, y4, z4, x5, y5, z5

Other compounds with this structure
BaMg2V2O8, BaMn2V2O8, BaMo2V2O8, BaV2Co2O8, PbNi2V2O8

Body-centered Tetragonal primitive vectors
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4a ŷ + 1
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B34 =
(
y4 + z4 + 1

2

)
a1 +(

−x4 + z4 + 1
2

)
a2−(x4 − y4) a3

= −ax4 x̂ + ay4 ŷ + c
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ẑ (32g) O II

B43 =
(
x5 − z5 + 1

2

)
a1 +

(y5 − z5) a2 + (x5 + y5) a3

= a
(
y5 − 1

4

)
x̂ + a

(
x5 + 1

4

)
ŷ − c

(
z5 − 1

4

)
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